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UGC-262

B.Com. (Part-II) Examination, 2021

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - I

(Financial Management)

Time : 1% Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.
(@us—3) (3® : 2 x 10 = 20)
e - ol T8 TR B SW ST (S-S 50 IE) | YAF YA 2 3HF T
Section-B (Marks : 8 x 5 = 40)
Note .— Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(Tus-a) (3T : 8 x 5 = 40)
de - U9 A ¥ fEel U ww & SW S (SW-EE 200 9E) | YAF Y9 8 I
Eal
Section—C (Marks : 20 x 2 = 40)
Note .— Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@us—a) (37h : 20 x 2 = 40)
qe - =W F el ouw & W Y (ST-HM 500 ) | WS Y9 20 31 6

i
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Section-A
(Tus-3)
1. (1) Define Financial Management.
foxita werer w1 219 smEU)
(ii)) What are Current Assets ?
=] FefEt F et § 2
(ii1)) Define Fund-flow statement.
9 yare faaor w1 gl it
(iv)  Give the meaning of Cash Flows.
Uhe aml o1 1Y aEy |
(v)  Define Working Capital.
FrEvie ISt w1 g S
(vi)  What is line of credit ?
g X F Y ?
(vi) Define Inventory.
@Y I IR i |
(viii) What is margin of safety ? Give formula.
& W o et § 7 g sasyl
(ix) What is Dividend ?
ST N BA T ?
(x)  What is meant by Cost of Capital ?

TSt ARTA 1 M STRE ¥ ?
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Section-B
(Tue-9)
2. Discuss the importance of Financial Management.
foreita gor & Hew w1 foaa=r i)

3. Calculate debtors turnover ratio from the following data :

frfafea stiest ¥ TR oT&d UM &t 0T SifST

()
Total Sales 1,50,000
Cash Sales 25% Credit sales
Closing Debtors 40,000
Excess of closing debtors over opening debtors 20,000
4. In 2005 the position of X Ltd. was as follows :

()
Sales 1,20,000
vC 96.000
Gross Profit 24,000
Fixed Overheads 16,000
Net Profit 8,000
Find out :
(1) P/V ratio
(i)  Break-even point
T fafgee =t 2005 =t feafd 39 goR ot .

()
IEER! 1,20,000
SRR 96,000
Hohel oY 24,000
feert ma 16,000
KERIL 8,000
d &Y
(i) 9 HEAT STIU
(i) wm-fo=x fag
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5. Describe the objectives of inventory management.

ThY YoY & SeIAT Bl G0 HIMU |

6. In a business the position of working capital at the beginning and end of the year

was as follows :

TH 9@ H 98 & YR 9 3T H wrEena geit & feufs e gwr ot .

Particulars 2020 (3) 2021 })
Current Assets :
Cash 3,400 1,400
Debtors 4,240 4,120
Stock 6,320 5,840
Prepaid Exp. 320 280
Current Liabilities
Bank loan — 4,000
Short-term loan — 1,000
Trade creditors 2,520 1,680
Unpaid expenses 4,200 3,280

Prepare a statement showing changes in net working capital of the business.
5 wEEiE gSit § ufkerddl @l i gU Uw foerer Gam e

7. A manufacturer buys certain essential spares from out-side suppliers at ¥ 40 per

set. Total annual requirements are 45,000 sets. The annual cost of investment in

inventory is 10% and cost like rent stationery, insurance, taxes etc. per unit per

year works out to be ¥ 1. Cost of placing an order is ¥ 5.

Calculate :

(1) The economic order quantity

(i) The number of orders

(i) Time gap between two orders
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T SeH et sTufdshdiell ¥ T 40 Ufa T & SMUR W qavds Afafed Io) e
T B AR STEvERAd 45,000 T2F ¥ why 9 fafEe # e aifve ara 10%
T T o, R, ofm, wR SIS T faas 9fd s @rE 3 1 ¥ TH SR H AN
35 %I

M IS

(i)  onf¥e SRy HEN

(i)  STcEN & HE

(iii) T I & HH THA SFRA

8.  The following informations are available with regards to the capital structure of

Arihant Steel Ltd. :
e wiew fa. & St & & ey § fafafed geam sues ©

Amount After tax cost
Sources of funds
&) of Capital
Debt Capital 6,00,000 5%
Preference Share Capital 2,00,000 10%
Equity Share Capital 4,00,000 15%
Retained Earning 8,00,000 12%

You are required to calculate weighted average cost of capital.

39 YSft ot 9IRa e @G St IO it

Section—-C
(@us-—H)
9. The Balance sheet of Atharv Limited as on 31st March, 2016 was as follows :

31 99, 2016 ¥ s1gd fafaes =1 fagr =1 an .
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Balance Sheet

()
I. Equity and Liabilities :
(1)  Shareholders Funds -
(@) Share Capital 4,00,000
(b) Reserve and Surplus 1,16,000
(i1) Non-current Liabilities :
15% Debentures 2,00,000
(ii1) Current Liabilities -
(@) Trade payables 1,20,000
(b) Other current liabilities 4,000
8,40,000
II. Assets :
(1)  Non-current Assets :
Fixed Assets :
(@) Tangible : Plant 3,00,000
(b) Intangible : Goodwill 2,40,000
(i1) Current Assets -
(@) Inventory 1,60,000
(b) Trade Receivables 90,000
(¢) Cash and Cash Equivalents 34,000
(d) Other current assets : Prepaid expenses 16,000
8,40,000
Sales of the years 8,00,000
Cost of sales 4,80,000
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You are required to calculate the following ratios :
(1) Current ratio

(i1))  Quick ratio

(ii1))  Stock turnover ratio

(iv)  Average collection period

ekt Frefafed STul 1 o1 ST © s

(1) =] AU
(i) @ g9
(i) Ry Tad

(iv) ofrEa Suew safy

10. Clearly explain the meaning and importance of fund flow statement and point

out its limitations.

Y YaTg foeawor &1 219 9 Hecd T HISU qAT ST e 9 YeheT S |

11. The following data are obtained from the records of a company :

TF HEA & ol ° = sAfee o g E

2020 ) 2021 })
Sales 80,000 90,000
Profit 10,000 14,000

Calculate :

(1) P/V ratio

(i)  Break-even point

(ii1)) The profit or loss when sales amounts to ¥ 50,000

(iv)  The sales required to earn a profit of I 19,000.
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AT FIST

() o9 = ST

(i) w-fa=g fog

(iii) fosrar Wl % 50,000 B9 W AW 1 WA KT WA
(iv) % 19,000 Ty %uM & forw faswa af

12. Explain the term ‘Dividend Policy’ and critically examine the essentials of a

sound dividend policy.

U AT T THSST T Uk [gg AT I & SAAvIH Tl i SACeHIHS AT
HITST |
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